SUMPO SuMPO EPD SUMPOBBIEIANINTOIS s

E p D e — A FE A AT I IR E
" ::::: S1TNREE S (EPD) ERBFABXNHE-14-8
VERIFIED KANDA SQUARE GATE
BHES © JR-AI-25241E https://ecoleaf-label.jp

SHARP

Yy —7HAEH

(Sharp Corporation)

FORNT AT —HEH

(DIGITAL FULL COLOR MULTIFUNCTIONAL SYSTEM)

BP-51C36 (US)

LR 7 2 i N P g R Y =S

BENRCSENELA
BEHAL 2BES JR-AI-25241E
BE1EHEY EAPCREFS  PA-590000-Al-08
PCR#% B R A S #25 [558hi]
HE X SRR 2FA 202510898
| F=8e3e) CIeh R a4 RIEETEE 2025498 22H
OEMNFNE QRE QOB @fEA-H#F O BIrA= YATLEREE A
REES FV-08-25027
RIEE#EARE 203049821 H
HEOB, TETKR-FET PCRLE1-DETE
= : BP-51C36 REBZE 20235 981
A BFEEA (EP) £EE 5 22
BEET®EE  : T/70:36%y4% (A43D) — AR AV AT IR B HEE S
n5- 368y9 (A4370) E=HIRFE*
SABEYIX ¢ SRA3 NEBIRIEE  BE #T
TUYNC—/AFxvY @ IR
T EFIRI/ADF(EFS H B55AA) | @ ISO14025(ZE 1A E & R UT—5 DI LIAREE
COREB WALER
*YAT LR EZ B EAANOREDHZEE. VAT LRI ZT>REEED
ZEEEH.
FWabhEx

Jv-THA R AV-PEIRAVYI1-Y3VBHERKER
E-mail:ECOLEAF-BS@sharp.co.jp
E#HxES ¢ JR-AI-25241E



SuMPO EPD SUMPORRIESAIN SOOI s

SEUME)D . —MAEEAY AT IR S HEEEE
4 WEPRPD SATIREES (EPD) ST
VERIFIED KANDA SQUARE GATE

Z§FES . JR-AI-25241E https://ecoleaf-label.jp

OF17Y1 7V REEFHHER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 930 | kg-CO:eq
[7yele 14 | kg-SO.eq
ERHE 0.14 | kg-Sbeq
EQFEMHAE nQHE nQRE m@FER-HE sORK
2F JHE|  HfI A OEMHRE Q& Qi@ |@fEMA-#E O
IEZED kg-COzeq | 9.3E+02 | 4.6E+02 | 4.5E+01 9.6E+01 2.2E+02 1.2E+02
43[4 kg-SO.eq | 14E+00 || 4.4E-01 1.6E-01 2.0E-01 5.8E-01 6.5E-02
HRHE kg-Sbeq 1.4E-01 1.3E-01 1.9E-04 4.0E-04 1.0E-02 1.3E-04
IHH B mh-9E (ERHS) Bify
FBELERREE R 7.3E+01 kg LB 3.2E+01 kg
BERREER 1.4E+02 kg Sus 8.6E-01 kg
TIVIZA 5.0E-01 kg
Z0MEE 9.3E-01 kg
I52FvY 3.2E+01 kg
i 1.2E-01 kg
A5 2.1E+00 kg
- AR 1.4E+01 kg
EL& A IR EAR 1.9E+00 kg
Z0fth 6.3E+00 kg

OEERRECEIT ZEMIER

-BEOfERET s dek
-(EFEHM%E 5 £/, ENRIFEAREE 192,000 LT REEMEEHLTWET,
32 (¥37/H) x20 (By¥3ad) =4 x5 (B/B) x 4 GB/A) x12 (A/F) x5 (%) =192,0001%
-EIRIROREBEWREESENTWEEA,
CBRETEICAVRYTUAICBVTRELEES - EE5% EPAR)
{EEIRIF-2F-TOI5LVer3 0CHVEELTVET,

©-1.Z0fthDIRIFRIEIFER

AB RO EEE FEIRRBTHHIRRAIR, FF-DEE(L 1SO14001 ARG TIHICTITHONTVET,

@DERLEZRT-9DEZXA
FREIIF, IDEA v3.1.0 KU SUMPOBBIESANI SOIS LZFT-Fv1.15 ZEBLTVET,

®fE

@7 -YHEHENAHKE. PCRELVETE - EEMRBELSRBL WL,
OLLRIIDVTE, EE - EEREICHREINLEZHFER/LEEEICLIRDONE A
(BHE%URL : https://ecoleaf-label jp/regulation/)
F#xFES ¢ JR-AI-25241E



